3 X = 7S

= * #R(No. 1) () NEOAM. T%] HiExsiEsnes
w5l ® & L~ B0 P ETNENS
B 4 E il % E oA % at % %

Hr b 385, 728 5.6 268, 764 8.3 654, 492 6.7
654, 492 6.7

] = 25,100 10. 3 29, 728 10. 6 54, 828 10. 5
626, 634 6.4

% 2 FN 12, 822 2.9 16, 718 8.6 29, 540 6.1
612, 157 0.4

i 15 38, 984 5.5 31,619 6.5 70, 603 5.9
580, 122 6.4

‘A FH & 8, 856 3.4 8, 085 4.8 16, 941 4.1
576, 071 6.4

G| K Bl 31, 630 4.5 19, 749 6.8 51, 379 b.4

(HoEMpER ) 85, 092 3.3 64, 892 3.2 149, 984 3.2
o - 613, 336 5.8

T sOH F 20, 544 -0.5 18, 346 4.4 38, 890 1.8
599, 486 6.0

A = 7K 20, 828 13.7 13, 938 4.4 34, 766 9.8
578, 995 5.7

= 1t N 7, 296 3.3 6, 969 4.5 14, 265 3.9
570, 492 5.7

J\ 1% 1] 22,408 5.2 14, 307 5.2 36, 715 5.2
551, 006 5.8

= I [ /N 6,212 6.2 7,303 3.7 13,515 4.8
546, 391 5.8

T B SN il 41, 766 4.3 35, 920 5.3 77, 686 4.7
513, 249 5.7

Al il 41, 686 2.9 27,691 3.8 69, 377 3.3
486, 156 5.7

> o U » K 21,414 4.4 18, 317 3.8 39, 731 4.1
470, 516 5.7

e 7 8,778 2.6 7, 465 2.8 16, 243 2.7
465, 947 5.7

L= 19, 890 1.7 12,732 4.5 32, 622 2.8
462, 225 5.8

¥l H 9, 108 4.4 4, 000 7.0 13, 108 5.2
- 457, 366 5.7

i ¥l 55, 656 4.2 59, 851 7.4 115, 507 5.9
271, 656 5.8

ic) i ¥iil 9, 326 6.7 6, 842 7.3 16, 168 7.0
262, 033 5.8

FHE 2] b 11, 128 4.9 14, 339 23.3 25, 467 14.6
249, 297 5.3

® O 9 = 13, 704 3.4 8, 298 4.8 22,002 3.9
240, 389 5.2

% B % 6, 008 5.2 6,471 3.9 12, 479 4.5
239, 779 5.2

i ¥ =8| 9, 606 3.8 10, 901 8.4 20, 507 6.2
236, 174 5.0

¥ =8| 38, b64 3.8 41, 196 6.3 79, 760 5.1
205, 937 4.6

o % w R 52, 006 3.6 31,910 6.0 83,916 4.5
180, 528 4.2

s b JiL 13, 276 3.0 10, 566 4.0 23, 842 3.5
166, 774 4.2

I A 31, 136 2.9 25, 886 5.6 57, 022 4.2
134, 468 4.0

i} =) =] 3, 676 1.9 3,571 3.4 7,247 2.0
130, 879 4.1

=TI S NI 30, 284 2.1 18, 973 3.6 49, 257 2.6
101, 583 4.6

2] M 5, 946 3.7 3,734 3.2 9, 680 3.5
96, 952 4.6

YT | /A 4, 258 6.6 3, 446 4.5 7,704 5.7
93, 337 4.6

J& a 1, 830 1.6 1, 862 5.3 3, 692 3.4
93,111 4.5

bl i3 10, 260 4.0 9,970 4.2 20, 230 4.1
48, 379 3.1

w £ ) F F 26, 588 2.3 21,791 4.1 48, 379 3.1

1 NV HSo e . 13.3% = e . 11. 7% 2 - 12.65% 12
7 7 < 5
C mastmamme | S0 REL (0 00) | EWMRE | T 904 0. 0%)




mOOE  #WM.2) ) ANBOAME., (%) Ml aiEsEms

B PS 2 A =N B A B (N
R4 TE 1] % E 4 % &t % %
7N 2t 1, 046, 302 4.7 821, 258 6.8] 1,867,560 5.6
(FE B OHR )
210, 105 5.2
wF % E ) 8, 506 3.3 6, 056 6.0 14, 562 4.4
B 201, 225 5.2
o OE f oW O 28, 652 3.0 20,907 6.1 49, 559 4.3
188, 475 4.8
REXHSIV TR 5, 638 8.1 8,379 10. 6 14,017 9.6
181, 406 4.5
P Ik 11, 532 3.8 7, 554 4.7 19, 086 4.2
173, 192 4.4
P 1E = 13,784 2.4 10, 075 5.1 23, 859 3.5
. 164, 637 4.3
wOFE ok 22,698 1.8 17, 881 4.4 40, 579 3.0
149, 599 4.7
MELEY X — 44, 186 2.9 33, 484 6.1 77,670 4.2
134, 228 4.8
mOoE W o2z N 15, 842 5.9 12, 730 4.0 28,572 5.1
120, 474 4.7
[F3] K R 31, 490 1.5 22,178 2.9 53, 668 2.1
95, 722 5.2
% =3 5 13,278 4.4 7,090 6.2 20, 368 5.0
86, 398 5.0
15 VN 53,410 3.7 32, 988 7.1 86, 398 5.0
N B 249,016 3.2 179, 322 5.6 428, 338 4.2
(B B % )
2,345 30.7
JF RIS OE P Al 138 -4.2 2,207 33.8 2,345 30.7
(@ W )
4,108 -2.4
% BEE W A H 2,206 -6.0 1,902 2.2 4, 108 -2.4
(\m B %)
42,533 5.7
w OEF K A 2,662 6.0 2,406 8.8 5, 068 7.3
40, 470 5.7
1 H 2,518 5.6 2,484 9.9 5, 002 7.7
37, 981 5.5
)] r A5 = 8,594 6.0 5, 538 3.4 14, 132 5.0
29, 069 5.3
B i 3, 898 4.1 3, 820 8.7 7,718 6.3
26, 199 4.6
fr=a JE 12, 354 1.9 10, 918 6.5 23, 272 4.0
10, 316 8.7
mo R A 1, 348 1.7 8, 968 9.8 10, 316 8.7
N 5 31,374 3.9 34,134 7.5 65, 508 5.7
& 2 1, 329, 036 4.4| 1,038, 823 6.7 2,367,859 5.4




# O E K ) ANBOHM, [%) WA s

w5l ® & L~ B0 T B A B v
BR 4 T il % E oA % at % %

7 156, 318 4.4 129, 441 3.8 285, 759 4.1
285, 759 4.1

PGt 3, 638 8.4 7,232 5.8 10, 870 6.6
288, 491 4.2

r) L N 22,160 6.8 12, 097 9.7 34, 257 7.8
284, 159 4.1

Hh J 3, 346 0.3 5,373 6.9 8,719 4.3
282, 839 4.0

T it 47, 842 4.0 59, 273 5.6 107, 115 4.9
273,871 3.7

Hr X 3,234 5.2 5,161 7.3 8,395 6.5
270, 485 3.7

W i 8, 188 4.8 6,772 3.2 14, 960 4.0
264, 573 3.7

AH N 21,948 5.2 17, 504 5.3 39, 452 5.3

(IR F #RFE ) 85, 092 3.3 64, 892 3.2 149, 984 3.2
200, 721 3.2

K p 14, 902 6.2 14, 577 3.8 29, 479 5.0
184, 810 3.1

i) 7K 8, 862 0.1 8,225 4.0 17, 087 5.1
176, 634 3.0

b H 13, 786 5.6 13, 067 5.2 26, 853 b.4
163, 196 2.7

f=n H = 22,984 5.3 14, 333 3.5 37,317 4.6
147, 069 2.3

E Bo» 6, 102 3.1 6,473 4.1 12, 575 3.6
143, 444 2.4

S F il 20, 932 3.7 16, 370 3.3 37, 302 3.5
129, 905 2.4

= Ji<3 =) 11,516 4.5 7, 569 3.8 19, 085 4.2
125, 869 2.b

pas BH A A 3,210 1.7 3,274 3.5 6, 484 2.6
126, 063 2.6

= pEd == 65, 420 2.3 60, 643 3.0 126, 063 2.6

& &t 434, 388 387, 384 4.3 821,772 4.3

eI 55%n 1o T 5250 | - | 5350
5 < 5

C ) P R R A F0.0%) | EIMRE 0 00 (—1.9%)




